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Note : The maximum marks printed on the question paper
are applicable for the candidates registered with the
School of Open Learning. These marks will, however,
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of regular colleges, at the time of posting of awards
for compilation of result.

Note :  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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Attempt Al/ questions.
All questions carry equal marks.
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1. What are the indicators of business growth ? Explain

Baumol’s Steady State Growth.
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Discuss Edith Penrose’ managerial constraint on business

growth,
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Explain Lancaster’s “new theory of consumer demand.”

How does it help in understanding consumer behaviour ?
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{a) How does a multi-product firm attain equilibrium given
his resource endowment and the prices of the two

goods he is producing ?

(b) Write short notes on Constant Elasticity of Substitution
(CES) and Translog (TN) production function. Under
what circumstances, they will reduce to a Cobb-

Douglas format ?
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Explain asymmetric information and its effects with the

help of an example.
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(a) What do you mean by duality in production 7 Derive
the cost function for a Cobb-Douglas production
function.

(b) Distinguish between product lines, isoclines and
expansion path. With the help of product lines, prove
that the presence of increasing returns to scale may
not imply the existence of increasing returns to a

factor.
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Discuss the dynamics of long run equilibrium under
perfect competition for (1) increase in cost of

production, and (2) imposition of a specific tax.

Prove that the monopoly producer does not have

a supply curve.
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The demand function of a multi plant monopolist
is given as ¢ = 200 - 2p and the cost functions
of the two plants are given as C, = 10g, and
C, = 0.25(g,)*. How will the monopolist distribute

production among the two plants to maximize

profit ?

What are the different price leadership models under

Oligopoly ? Discuss the process of price determination
under these models ?
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(a) How does a firm attain long run equilibrium in a
monopolistic market under the conditions of both price

competition and free entry ?

{b) Differentiate between Cournot and Stakelberg models
of duopoly. Show that none of them maximize industry

profit.
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(a) How are factor prices determined under marginal
productivity theory of distribution ? Compare it
with the phenomenon of mbnopolistic exploitation

of labour.
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(b) Prove that paying each input its marginal product
exhausts the total product, if and only if the elasticity

of output with respect to any input is unity.
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